
Partial Differential Equations Assignment 7.1
Spring 2023 Due February 28

Exercise 1. Textbook exercise 3.6.3.

Exercise 2. Textbook exercise 3.6.4.

Exercise 3. Repeat exercise 3.6.3, replacing the homogeneous boundary conditions with

ux(0, t) = −1 and ux(π, t) = 1 for t > 0.

Does the solution tend to a steady state as t → ∞?

Exercise 4. Repeat exercise 3.6.4, replacing the homogeneous boundary conditions with

ux(0, t) = ux(1, t) = 1 for t > 0.

Does the solution tend to a steady state as t → ∞?


